
3600 seconde      =       ........................................................................................................     uur

7 minuten      =       ........................................................................................................     seconde

3 uur      =       ........................................................................................................     minuten

5 kwartier      =       ........................................................................................................     seconde

1 uur      =       ........................................................................................................     seconde

4 uur      =       ........................................................................................................     seconde

10 kwartier      =       ........................................................................................................     minuten

1800 seconde      =       ........................................................................................................     kwartier

1 uur      =       ........................................................................................................     seconde

24 kwartier      =       ........................................................................................................     uur

4 uur      =       ........................................................................................................     seconde

11 minuten      =       ........................................................................................................     seconde

1 kwartier      =       ........................................................................................................     minuten

45 minuten      =       ........................................................................................................     kwartier

60 minuten      =       ........................................................................................................     uur



3600 seconde = (3600 : 60) minuten = 60 minuten  =  1 uur

7 minuten = (7 x 60) seconde  =  420 seconde

3 uur = (3 x 60) minuten  =  180 minuten

5 kwartier = (5 x 15) minuten = 75 minuten = (75 x 60) seconde  =  4500 seconde

1 uur = 60 minuten = (60 x 60) seconde  =  3600 seconde

4 uur = (4 x 60) minuten = 240 minuten = (240 x 60) seconde  =  14400 seconde

10 kwartier = (10 x 15) minuten  =  150 minuten

1800 seconde = (1800 : 60) minuten = 30 minuten = (30 : 15) kwartier  =  2 kwartier

1 uur = 60 minuten = (60 x 60) seconde  =  3600 seconde

24 kwartier = (24 : 4) uur  =  6 uur

4 uur = (4 x 60) minuten = 240 minuten = (240 x 60) seconde  =  14400 seconde

11 minuten = (11 x 60) seconde  =  660 seconde

1 kwartier = (1 x 15) minuten  =  15 minuten

45 minuten = (45 : 15) kwartier  =  3 kwartier

60 minuten  =  1 uur


